
JustinW
Typewritten Text
For more information contact our team: service.ec@foagroup.com









JustinW
Typewritten Text
Remove parts from back compartment of headboard (#1).

JustinW
Rectangle

JustinW
Typewritten Text
Attach HB/FB legs (#3) to headboard (#1) and footboard (#2).

JustinW
Rectangle



JustinW
Typewritten Text
Align and secure side legs (#6) to both side rails (#4,5), by using bolts (#D) with washers (#E,F).

JustinW
Rectangle

JustinW
Typewritten Text
Align side rails (#4,5,6) to the headboard (#1) and footboard (#2), then secure by using bolts (#C) with washers (#E,F).

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text
Align both central support rails (#8) together, then secure by using bolts (#B) with washers (#E,F) and hex nut (#H).

JustinW
Typewritten Text

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align and secure support legs (#9) to the central support rails (#8) by using bolts (#B) with washers (#E,F) and hex nut (#H).

JustinW
Typewritten Text

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text
Align central support rail (#8) to the side rails, headboard, and footboard, then secure by using bolts (#D) with washers (#E,F).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Secure central support rail (#8) to side legs (#6) by using bolts (#B) with washers (#E,F).

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text
Align central support rail (#8) to the headboard and footboard, then secure by using bolts (#C) with washers (#E,F).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align slats (#10) to side rails, then secure by using screws (#G) with washers (#F).

JustinW
Rectangle



JustinW
Typewritten Text
Align slats (#10) to side rails, then secure by using screws (#G) with washers (#F).

JustinW
Typewritten Text

JustinW
Rectangle




